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Appendix A

Replacement Value, FCI, and RI

Replacement Value

What is Replacement Value?

The Replacement Value is the total amount of expenditure required to construct a
replacement facility in like kind The RV for a single Asset can be based on the sum of the
System replacement costs, or it can be a custom cost. The RV may include or exclude
overhead costs. (Also known as Current Replacement Value (CRV).

How is Replacement Value calculated?

The Asset’s Current Replacement Value (CRV) is the total amount of expenditure required
to replace a facility to its optimal condition. CRV is a key figure in determining the condition

of a portfolio; it is compared against the costs of deferred maintenance in order to derive the
FCL

FCI

What is FCI?
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The Facility Condition Index (FCI) is an industry-standard index that measures the relative
condition of a facility by considering the costs of deferred maintenance and repairs as well as
the value of the facility. FCI allows condition benchmarking between facilities of unequal
size and composition, both within and among institutions.

FCL in conjunction with VFA facility’s Funding Analysis tools, allows decision makers to
understand funding needs and comparisons, and provides a rule of thumb for the annual
reinvestment rate to prevent further accumulation of deferred maintenance. Using FCI, an
organization can set targets to achieve an overall acceptable condition for facilities.
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How is FCI calculated?

FCl is a ratio of deferred maintenance costs and the Asset Replacement Value:

Total $ of Subset of Requirements
Total Asset Replacement Value

For example:

° An Asset with a CRV of $500,000 and eligible Requirements of $100,000 has an FCI of
0.20 ($100,000/$500,000).

® An Asset with a CRV of $1,000,000 and eligible Requirements of $100,000 has an FCI
0f 0.10 ($100,000/$1,000,000).

® An Asset with a CRV of $2,000,000 and eligible Requirements of $100,000 has an FCI
0f 0.05 ($100,000/$2,000,000).

This principle applies to a group of Assets, and entire Campuses and Regions. For example, a
portfolio of 10 Assets with total replacement costs of $10,000,000 and eligible Requirements
of $1,000,000 has an FCI of 0.10 ($1,000,000/$10,000,000).

What does FCI signify?

FCI allows you to quickly compare the condition of Assets against industry-wide standards
or across a portfolio.

Based on the default FCI settings (which include only the costs of deferred maintenance
Requirements) an Asset in excellent condition has a 0.00 to 0.05 FCI, while an Asset in good
condition has a 0.05 to 0.15 FCI. A high FCI (greater than .15) signals that the Asset is in
poor condition; it indicates that the Asset has Requirements with costs that are a high
percentage of the Asset’s CRV.

If your organization has configured the FCI settings, then the costs included in FCI

calculation may be more or less. Since FCI settings are applied evenly across a portfolio, the
FClL is still an excellent tool to compare conditions within your institution.

What is a deferred maintenance cost?

Deferred maintenance costs are the costs of certain Requirements. Optionally, they can
include the cost of System Renewals.

125


















